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1. The process of developing a software 

product using software engineering 

principles and methods is referred to  

as ....................... . 

(A) Software Engineering 

(B) Software Evolution 

(C) System Models 

(D) Software Models 

2. Where is there a need of Software 

Engineering ? 

(A) For Large Software 

(B) To Reduce Cost 

(C) Software Quality Management 

(D) All of the above 

3. Efficiency in a software product does not 

include ........................ . 

(A) licensing 

(B) processing time 

(C) responsiveness 

(D) memory utilization 

4. RAD stands for : 

(A) Rapid Application Development 

(B) Required Application Development 

(C) Rapid Application Developers 

(D) Rapid Application Disposition 

5. Which of the following is the first step in 

SDLC framework ? 

(A) Feasibility Study 

(B) Requirement Gathering 

(C) Communication 

(D) System Analysis 

6. Build and Fix Model is suitable for 

programming exercises of ................... 

LOC (Line of Code). 

(A) 100-200 

(B) 300-400 

(C) 600-700 

(D) Above 800+ 

7. In the maintenance phase the product 

must be tested against previous test 

cases. This is known as ........................ 

testing. 

(A) Unit 

(B) Regression 

(C) Acceptance 

(D) Integration 

8. Which one of the following is a 

functional requirement ? 

(A) Maintainability 

(B) Portability 

(C) Business needs 

(D) Reliability 
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9. The goal of requirement engineering is to 

develop and maintain sophisticated and 

descriptive .......................... document. 

(A) Feasibility Study 

(B) Requirement Gathering 

(C) Software Requirement Validation 

(D) System Requirements Specification 

10. Which of the following is correct 

software metrics ? 

(A) Complexity Metrics 

(B) Quality Metrics 

(C) Process Metrics 

(D) All of the above 

11. Why is Requirements Elicitation a 

difficult task ? 

(A) Problem of scope 

(B) Problem of understanding 

(C) Problem of volatility 

(D) All of the above 

12. Software design yields .......................... 

levels of results. 

(A) 2 

(B) 3 

(C) 4 

(D) 5 

13. How many types of cohesion are there in 

software design ? 

(A) 5 

(B) 6 

(C) 7 

(D) 8 

14. When multiple modules share common 

data structure and work on different parts 

of it, it is called ....................... . 

(A) Common coupling 

(B) Share coupling 

(C) Data coupling 

(D) Stamp coupling 

15. In Design phase, which is the primary 

area of concern ? 

(A) Architecture 

(B) Data 

(C) Interface 

(D) All of the above 

16. Which of the following is the worst type 

of module coupling ? 

(A) Control Coupling 

(B) Stamp Coupling 

(C) External Coupling 

(D) Content Coupling 

17. Which type of DFD concentrates on the 

system process, and flow of data in the 

system ? 

(A) Physical DFD 

(B) Logical DFD 

(C) Flowchart DFD 

(D) System DFD 
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18. Which of the following is not a 

component in DFD ? 

(A) Entities 

(B) Attributes 

(C) Process 

(D) Data Flow 

19. A directed arc or line in DFD represents : 

(A) Data Store 

(B) Data Process 

(C) Data Flow 

(D) All of the above 

20. Which of the following is true about 

Software Verification ? 

(A) Verification ensures the product 

being developed is according to 

design specifications. 

(B) Verifications concentrates on the 

design and system specifications. 

(C) Both (A) and (B) 

(D) None of the above 

21. Which of the following is also known as 

“Behavioral” testing ? 

(A) Black-box testing 

(B) White-box testing 

(C) Both (A) and (B) 

(D) None of the above 

22. In which type of testing : software is 

compiled as product and then it is tested 

as a whole ? 

(A) Integration Testing 

(B) Acceptance Testing 

(C) Regression Testing 

(D) None of the above 

23. Exhaustive testing is : 

(A) always possible 

(B) practically possible 

(C) impractical but possible 

(D) impractical and impossible 

24. Test cases should uncover errors like : 

(A) Nonexistent loop termination 

(B) Comparison of different data types 

(C) Incorrect logical operators or 

precedence 

(D) All of the above 

25. Test Automation ...................... the 

testing time. 

(A) increases 

(B) reduces 

(C) does not depend 

(D) None of the above 

26. Validation is a process is done by : 

(A) developers 

(B) testers 

(C) client 

(D) None of the above 
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27. Validation occurs after verification : 

(A) TRUE 

(B) FALSE 

(C) Can be true or false 

(D) Cannot say 

28. What is Cyclomatic complexity ? 

(A) Black box testing 

(B) Green box testing 

(C) Yellow box testing 

(D) White box testing 

29. What are the various Testing Levels ? 

(A) Unit Testing 

(B) System Testing 

(C) Integration Testing 

(D) All of the above 

30. CASE stands for : 

(A) Computer Aid Software 

Engineering 

(B) Computer Application Software 

Engineering 

(C) Computer Aided Software 

Engineering 

(D) Computer Analysis Software 

Engineering 

31. Which of the following tools is helpful in 

all the stages of SDLC ? 

(A) Central Repository 

(B) Lower Case Tools 

(C) Integrated Case Tools 

(D) Upper Case Tools 

32. In which of the following methodologies 

CASE tool mainly used ? 

(A) RAD 

(B) OO Approach 

(C) JAD 

(D) All of the above 

33. Which of the following is not a drawback 

of CASE tool ? 

(A) Perform testing easily 

(B) Technical limitation 

(C) Very difficult for technology 

transfer 

(D) Difficult to select a case tool. 

34. What kind of support is provided by the 

Code Generation CASE tool ? 

(A) Cross referencing queries and 

requirements tracing 

(B) Transformation of design records 

into application software 

(C) Compiling, interpreting or applying 

interactive debugging code 

(D) All of the above 

35. Which testing comes under manual 

testing ? 

(A) unit testing 

(B) integration testing 

(C) system testing 

(D) All of the above 



BCA-403(N) ( 7 )  Set-A 

36. Automation Testing is used to re-run the 

test scenarios that were performed 

manually, quickly, and repeatedly. 

(A) TRUE 

(B) FALSE 

(C) Can be true or false 

(D) Cannot say 

37. Which technique is applied for usability 

testing ? 

(A) White box 

(B) Black box 

(C) Grey box 

(D) Green box 

38. Alpha Testing is useful way of 

compatibility testing. 

(A) TRUE 

(B) FALSE 

(C) Can be true or false 

(D) Cannot say 

39. Which type of testing is performed by 

developers before the setup is handed 

over to the testing team to formally 

execute the test cases ? 

(A) Integration Testing 

(B) System Testing 

(C) Unit Testing 

(D) Regression Testing 

40. Integration testing can be done in 

................... ways. 

(A) 4 

(B) 3 

(C) 2 

(D) 1 

41. Beta testing is also known as : 

(A) post-release testing 

(B) on-release testing 

(C) off-release testing 

(D) pre-release testing 

42. UI testing involves testing the Graphical 

User Interface of the Software. 

(A) TRUE 

(B) FALSE 

(C) Can be true or false 

(D) Cannot say 

43. The process of finding and fixing bugs is 

termed : 

(A) Exception 

(B) Bugs handling 

(C) Debugging 

(D) Error handling 

44. In software testing, the bug can occur for 

the : 

(A) Wrong coding 

(B) Missing coding 

(C) Extra coding 

(D) All of the above 

45. Which of the following is a functional 

requirement ? 

(A) Portability 

(B) Robustness 

(C) Maintainability 

(D) None of the above 
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46. Purpose of process is to deliver software : 

(A) In time 

(B) With acceptable quality 

(C) That is cost efficient 

(D) Both in time and with acceptable 

quality 

47. What are the attributes of good software ? 

(A) Software maintainability 

(B) Software maintainability and 

functionality 

(C) Software functionality 

(D) Software development 

48. In the maintenance phase the product 

must be tested against previous test 

cases. This is known as .................. 

testing. 

(A) Unit 

(B) Regression 

(C) Integration 

(D) Module 

49. What is the simplest model of software 

development paradigm ? 

(A) V-model 

(B) Big Bang model 

(C) Spiral model 

(D) Waterfall model 

50. Which of the following is/are considered 

stakeholder in the software process ? 

(A) Customers 

(B) Project managers 

(C) End-users 

(D) All of the above 

51. What is the most common measure for 

correctness ? 

(A) Errors per KLOC 

(B) Defects per KLOC 

(C) $ per KLOC 

(D) Pages of documentation per KLOC 

52. What is the major drawback of the Spiral 

Model ? 

(A) Higher amount of risk analysis 

(B) Doesn’t work well for smaller 

projects 

(C) Additional functionalities are 

added later on 

(D) Strong approval and documentation 

control 

53. Which model is not suitable for large 

software projects but good one for 

learning and experimenting ? 

(A) Big Bang model 

(B) Iterative model 

(C) Spiral model 

(D) Waterfall model 
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54. Identify the disadvantage of Spiral Model : 

(A) Doesn’t work well for smaller 

projects 

(B) High amount of risk analysis 

(C) Strong approval and documentation 

control 

(D) Additional Functionality can be 

added at a later date 

55. A company is developing an advance 

version of their current software 

available in the market, what model 

approach would they prefer ? 

(A) RAD 

(B) Iterative Enhancement 

(C) Both RAD and Iterative 

Enhancement 

(D) Spiral 

56. Spiral Model has high reliability 

requirements. 

(A) True 

(B) False 

(C) All of the above 

(D) None of the above 

57. If you were a lead developer of a 

software company and you are asked to 

submit a project/product within a 

stipulated timeframe with no cost 

barriers, which model would you select ? 

(A) Waterfall 

(B) Spiral 

(C) RAD 

(D) Incremental 

58. Which two models doesn’t allow 

defining requirements early in the cycle ? 

(A) Waterfall and RAD 

(B) Prototyping and Spiral 

(C) Prototyping and RAD 

(D) Waterfall and Spiral 

59. Maintenance is the final phase in 

waterfall model. 

(A) True 

(B) False 

(C) All of the above 

(D) None of the above 

60. Methodology in which project 

management processes were step-by  

step ? 

(A) Incremental 

(B) Waterfall 

(C) Spiral 

(D) Prototyping 

61. ER diagram is a ..................... of the 

database system which provides high 

level conceptual data model and supports 

the user’s perception of the data. 

(A) Graphical representation 

(B) Hierarchical representation 

(C) Both of these 

(D) None above these 
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62. .................... is set of entities of the same 

type that share the same properties 

attributes. 

(A) Entity 

(B) Attribute 

(C) Both (A) and (B) 

(D) None of the above 

63. ........................ attributes cannot be 

divided into subparts. 

(A) Simple 

(B) Composite 

(C) Single valued 

(D) Multivalued 

64. ..................... entity does not have a value 

for an attribute. 

(A) Null 

(B) Composite 

(C) Single valued 

(D) Multivalued 

65. ...................... represent attributes. 

(A) Ellipses 

(B) Rectangles 

(C) Diamonds 

(D) Lines 

66. ...................... represent multi-valued 

attribute. 

(A) Double ellipse 

(B) Dashed ellipse 

(C) Diamonds 

(D) Lines 

67. ...................... represent weak entity set. 

(A) Double ellipse 

(B) Dashed ellipse 

(C) Double rectangle 

(D) Lines 

68. DFD shows how things happen or the 

physical component is called 

...................... . 

(A) Logical DFD 

(B) Physical DFD 

(C) Data dictionary 

(D) None of the above 

69. ..................... is a sub-discipline of 

computer Science that attempts to apply 

engineering principles to the creation, 

operation, modification, and maintenance 

of the software components of various 

systems. 

(A) Computer Engineering 

(B) Hardware Engineering 

(C) Software Engineering 

(D) Component Engineering 

70. Software maintenance refers to the 

support phase of software development 

which includes ? 

(A) Correction 

(B) Adaption 

(C) Enhancement 

(D) All the above 
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71. State whether True or False for Rapid 

Application Development (RAD). 

(i) RAD is not appropriate when 

technical risks are high. 

(ii) For large but scalable projects, 

RAD requires sufficient human 

resources to create the right 

number of RAD teams. 

Codes : 

(A) True, False 

(B) False, True 

(C) True, True 

(D) False, False 

72. ........................ is a function of the 

number of failures experienced by a 

particular user of that software. 

(A) Software Usability 

(B) Software reliability 

(C) Software performance 

(D) None of the above 

73. The ................... model suggests a 

systematic sequential approach to 

software development that begins at the 

system level and progresses through 

analysis, design, coding, testing and 

support. 

(A) linear sequential development 

(B) rapid application development 

(C) incremental development 

(D) iterative enhancement 

74. ............... is actually a multi-step process 

that focuses on four distinct attributes of 

a program, data structure, software 

architecture, interface representations 

and procedural detail. 

(A) Software analysis 

(B) Software design 

(C) Coding 

(D) Testing 

75. ................... is a document driven process 

that requires formal documents at the end 

of each phase. 

(A) Linear Sequential Development 

(B) Rapid Application Development 

(C) Incremental Development 

(D) Iterative Enhancement 

76. ..................... strategy assumes that 

residual faults remain in the system and 

can continue in operation after some 

system failures have occurred. 

(A) Fault avoidance 

(B) Fault tolerance 

(C) Fault detection 

(D) None of the above 

77. .................... is an approach to program 

development whereby programmers 

assume that there may be undetected 

faults or inconsistencies in their 

programs. 

(A) Defensive programming 

(B) Effective programming 

(C) Strong programming 

(D) Known programming 
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78. The main design activities in the 

software design process are : 

(i) System specification 

(ii) Interface design 

(iii) Component design 

(iv) Algorithm design 

Codes : 

(A) ii, iii and iv only 

(B) i, ii and iii only 

(C) i, iii and iv only 

(D) All i, ii, iii and iv 

79. The different types of software 

maintenance systems are : 

(A) Corrective maintenance 

(B) Adaptive maintenance 

(C) Perspective maintenance 

(D) All the above 

80. The.........…..... model counters the third 

limitation of the waterfall model and tries 

to combine a benefit of both prototyping 

and waterfall model. 

(A) Linear Sequential Development 

(B) Rapid Application Development 

(C) Incremental Development 

(D) Iterative Enhancement 

81. State whether the following statements 

about incremental development model 

used in software development are True or 

False. 

(i) The incremental model combines 

elements of the linear sequential 

model with the iterative of 

prototyping. 

(ii) When an incremental model is 

used, the first increment is core 

product. 

Codes : 

(A) True, True 

(B) False, True 

(C) True, False 

(D) False, False 

82. ................... model couples the iterative 

nature of the prototyping with the 

controlled and systematic aspects of the 

linear sequential model. 

(A) Waterfall 

(B) Rapid Application Development 

(RAD) 

(C) Spiral 

(D) Incremental Development 
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83. ............... model can be represented 

schematically as a series of major 

technical activities, tasks, and their 

associated states. 

(A) Waterfall 

(B) Rapid Application Development 

(RAD) 

(C) Spiral 

(D) Concurrent Process 

84. ................ may be used to show the 

principal activities and deliverables 

involved in carrying out some process. 

(A) Data-processing model 

(B) Composition model 

(C) Classification model 

(D) Process model 

85. ................ may be used to show how 

entities have common characteristics. 

(A) Entity-relation diagram 

(B) Data flow diagram 

(C) Objects class diagram 

(D) State transaction diagram 

86. .................. are used to show how data 

flows through a sequence of processing 

steps. 

(A) Data flow models 

(B) System models 

(C) Semantic data models 

(D) Objects models 

87. ..................... always identify the entities 

in a database their attributes and explicit 

relationship between them. 

(A) Data flow models 

(B) System models 

(C) Semantic data models 

(D) Objects models 

88. Which of the following is/are the 

activities used in the design process for 

large software systems ? 

(i) Architectural designs 

(ii) Abstract specification 

(iii) Code design 

(iv) Interface design 

Codes : 

(A) i, ii and iii only 

(B) ii, iii and iv only 

(C) i, ii and iv only 

(D) All i, ii, iii and iv 

89. A/An ........................... in structured 

methods is used to describe the logical 

data, structured being used. 

(A) data-flow model 

(B) structured model 

(C) classification model 

(D) entity-relation model 
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90. While designing large software system, 

....................... provides the constraints 

under which it must operate is produced. 

(A) abstract specification 

(B) architectural design 

(C) interface design 

(D) algorithm design 

91. ....................... are effective in integrating 

sub-systems distributed across different 

computers on a network. 

(A) Broadcast models 

(B) Interrupt driven models 

(C) Event-based models 

(D) Centralized models 

92. The advantages of the ..................... are 

objects are loosely coupled, the 

implementation of objects can be 

modified without affecting other objects. 

(A) architectural model 

(B) object-oriented model 

(C) function oriented model 

(D) domain specific model 

93. The ................... was a one-directional, 

sequential model that was enhanced by 

the waterfall model through the 

introduction of bi-directional relations 

between the successive model stages. 

(A) nine-phase model 

(B) waterfall model 

(C) incremental and iterative model 

(D) evolutionary development model 

94. The ...................... models might be 

compared to depth-first and breadth-first 

approaches. 

(A) nine-phase model 

(B) waterfall model 

(C) incremental and iterative model 

(D) evolutionary development model 

95. In a ......................., the set of functions is 

initially implemented in a broad but 

shallow manner where many functions 

are included but only tentatively realized. 

(i) depth-first 

(ii) breadth-first 

(iii) incremental 

(iv) iterative 

Codes : 

(A) i and iii only 

(B) ii and iii only 

(C) i and iv only 

(D) ii and iv only 
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96. The ....................... fixes requirements, 

costs, and schedule at the earliest point in 

order to be able to meet contractual 

restrictions. 

(A) Waterfall approach 

(B) Prototyping approach 

(C) Spiral approach 

(D) Incremental approach 

97. Which of the following is/are the 

advantages of incremental development 

models for software development. 

(i) Improved development team 

morale early solution of 

implementation problems. 

(ii) Improved maintenance 

(iii) Improved control of over-

engineering or gold-plating 

measurement of productivity 

estimation feedback smoother 

staffing requirement. 

Codes : 

(A) i and ii only 

(B) ii and iii only 

(C) i and iii only 

(D) All i, ii and iii 

98. The ...................... illustrates how process 

models can be combined with one 

another to good effects, such as by 

integrating prototyping in order to reduce 

risk. 

(A) Waterfall model 

(B) Spiral model 

(C) Prototyping model 

(D) Evolutionary development model 

99. The ..................... usually involves 

building a small version of the intended 

system prior to building a small version 

of the intended system prior to building 

the proposed completed system. 

(A) Waterfall approach 

(B) Prototyping approach 

(C) Spiral approach 

(D) Incremental approach 

100. The ........................ allows one to 

incorporate other process models in an 

inclusive framework driven by project 

requirements and the dual objective of 

maximizing user satisfaction while 

minimizing development uncertainty. 

(A) Waterfall model 

(B) Spiral model 

(C) Prototyping model 

(D) Evolutionary development model 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the  correct 
answer and mark the same in the OMR 
Answer-Sheet as per the direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

lgh mŸkj Nk¡Vuk gSA mŸkj dks OMR vkUlj&’khV esa 

lEcfU/kr iz’u la[;k esa fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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